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Context

* Timing-related requirements are not always a MUST

 |f there are not a MUST then we cannot make assumptions that influence the design of the system or assume the use of design standards or
properties that are specific to safety-critical systems

* In short, if the timing-related requirements are not crucial to the project then we must deal with whatever execution environment is given.
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void main() { |
' tracepoint_starté
// code
tracepoint_end

Descriptive statistics summarize the
data and provide a nice way to
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